Tiling array experiments = Over 2712

abalOh 0
4000

3000
2000
1000

0 | e - |

abalOh 1
4000 +

3000 -
2000 -
1000 -~

0 - - i —

abalOh 2
4000 +
3000 4
2000 4
1000 -+

0 - - - - -

aba2h 0
4000 +
3000 4
2000 4
1000 -+

0 - f— f— - -

aba2h_1
4000 +
3000 4
2000 4
1000 -+

0 — - S = EE—

aba2h_2
4000 +
3000 4
2000 4

1000 -~
0 . . -

cold1i0h_ 0
4000 H

3000 -
2000 -
1000 -~

0 o -

coldi0h 1
4000 H

3000 -
2000 -
1000

0 . I I I




cold10h_2
4000

3000
2000
1000

0

cold2h O
4000 H

3000 -
2000 -
1000 -~
0

coldzh 1
4000 H

3000 -
2000 -
1000 -~
0

coldzh 2
4000 H

3000 -
2000 -
1000 -~

0
cont O

4000
3000 -
2000 -
1000 -~

0

cont_1
4000

3000 -
2000 -
1000 -~
0

cont_2
4000
3000 -~
2000 -~
1000

0

cont_3
4000
3000 -~
2000 -~
1000

0




dry10h_0O
4000
3000
2000
1000
0

dry10h_1
4000 H
3000 -~
2000 -~
1000
0

dry10h 2
4000 H
3000 -~
2000 -~
1000
0

dry2h 0
4000 H
3000 -~
2000 -~
1000
0

dry2h 1
4000 H
3000 -~
2000 -~
1000
0

dry2h 2
4000 H
3000 -~
2000 -~
1000
0

drySeed O
4000 H
3000 -~
2000 -~
1000
0

drySeed 1
4000 H
3000 -~
2000 -~
1000
0




drySeed 2

4000
3000
2000
1000
0

flower O

4000
3000
2000
1000
0

flower 1

4000
3000
2000
1000
0

flower 2

4000
3000
2000
1000
0

imbibedSeed_0

4000
3000
2000
1000
0

imbibedSeed_1

4000
3000
2000
1000
0

imbibedSeed_2

4000
3000
2000
1000
0

leaf 0

4000
3000
2000
1000

__-_..-.__-_-__.-_ll.._




leaf 1
4000
3000
2000
1000

leaf 2
4000 +
3000 4
2000 4
1000 -+

nacl10h 0
4000 H
3000 -~
2000 -~
1000

nacl10h_1
4000 H
3000 -~
2000 -~
1000

nacl10h_2
4000 H
3000 -~
2000 -~
1000
0

nacl2h 0
4000 H

3000 -
2000 -
1000 -~

0

nacl2h 1
4000 H

3000 -~
2000 -~
1000

0 —
nacl2h 2
4000 H

3000 -~
2000 -~
1000
0




root_0
4000

3000
2000
1000

root_1
4000

3000 -
2000 -
1000 -~

root_2
4000

3000 -
2000 -
1000 -~

siliqueEarly 0
4000 H
3000 -~
2000 -~
1000

siliqueEarly 1
4000 H
3000 -~
2000 -~
1000
0

siliqueEarly 2
4000 H
3000 -~
2000 -~
1000
0

siliqgueMiddle O
4000 H
3000 -~
2000 -~
1000
0

siliqgueMiddle 1
4000 H
3000 -~
2000 -~
1000
0




siliqgueMiddle 2

4000
3000
2000
1000
0

siliqueLate O

4000
3000 -
2000 -
1000 -~
0

siliqueLate 1

4000
3000 -
2000 -
1000 -~
0

siliqueLate 2

4000
3000 -
2000 -
1000 -~
0

stem O
4000
3000 -~
2000 -~
1000

0

stem 1
4000
3000 -~
2000 -~
1000
0

stem 2
4000
3000 -~
2000 -~
1000 -~

0




Correlation matrix
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